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In the amplifier circuit below, the transistors are in saturation and have the following
characteristics:
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a) For this amplifier, determine the dc bias point value for v, . (0.5 points)

b) What is the small signal single-ended voltage gain Ag = v, / ( vj1 - vip ) for this amplifier?
(1 point)

¢) What is the small signal common mode voltage gain Ay = ( Vo / Viem ) for this amplifier,
where vi; = Vi3 = Vicm ? (1 point)

d) What is the CMRR for this single-ended amplifier? (0.5 points)

¢) If the output is connected directly to the inverting input and the input voltage is applied to the
non-inverting input, forming a voltage follower, determine the range of input voltages over
which the circuit will function correctly as a voltage follower. Note that this range of
allowable input voltages is often called the input common-mode range. (1 point)





